Extra Credit Problems

The Orcs and the Hobbits

There are 3 hobbits and 3 orcs who want to cross a river and one boat that will hold only two creatures. There must be at least one creature in the boat during each crossing. The number or orcs must never out number the hobbits on either river bank or they will eat the hobbits. How do you get all 6 creatures across the river? 

The problem can be solved in a minimum of 11 steps 

The Monk

A monk leaves to ascend to the temple on top of a mountain at 9am and arrives at 5pm. The next day he leaves the temple at 9am and arrives back at the foot of the mountain at 5pm. Prove that there is a point in time where he was at the same location on the path at the same time.

